/

Name 11.3 Review

Date Accelerated Geometry

GRAPH EACH POLYNOMIAL FUNCTION and list all of the characteristics.

1) f(x) =x*—10x*+9 ; Roots = +3,+1

Local Minimum: L-Q\r—ﬁv) (2, -\S)
‘ Local Maximum: (O .fﬂ
Y-Intercept: (Ou QB

I \ End Behavior: RS K2 -2, f-:" {ﬂ\} ? b
AS X bo, ¥Ry 2o

\
) *\ ¥ g Domain: __ |- Range: ':jz.’\s
\
|

Increase: __ (-2, () (A.22)
Decrease: (= No,-2) (O, 2)

€
=

2) f(x) =—x3+13x + 12; Roots = —1,4,-3 Local Minimum: _(— 2=,— &)
7 N Local Maximum: { V.S, 9\2.\1$)
7 £ \ Y-Intercept: ( ('7: 2D
/ \ End Behavior: [Y§ X2 -»0, FOY) > o
« 4( » AS X b, FLX) T -ba
\ Domain: __ [} Range: _ F&
\ Increase: L”'Q‘ \ -S)
NV
Decrease: _( — Do -2 (I.S, bo)
(" gv - (ﬂ)
(1.9, 29129
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3) f(x) = —x? —4x+5; Roots = —5,1
[ y Local Minimum: _ N OWN\L.

= Local Maximum: (- N .q\)

//
// \\ Y-Intercept: (\O s 573
i End Behavior: RS X -22,{- (X)) -2
: AS KXAbo, f(x)A-Pe

Domain: _ R Range: L

Increase:{: Mo, =32
Decrease: (,-';L' DO\)

4) f(x) = x> — 3x* — 4x3; Roots = 0 mult.of 3,—1,4

Local Minimum: __(&,~4 X)
Local Maximum: (’-6; . AE \'?-5)

7 Y-Intercept: ((().O)
¢ i End Behavior: AS X2 - »9, F(x) o —2o.
/ \ ] AS X o, FIX) 2 oo
\L / Domain: __ R Range: P&
] / Increase: (— po, -.9) (2, f}“’)
r \/ Decrease:  (— . CJ, 2)
(-.5,.A%12S)

(3, -u¢)

Given the following graphs, determine whether the leading coefficient is positive or negative, and whether the

degree is odd or even.

5) 6 7)

Scanned by CamScanner



8) f(x) =x% —4x2 4 50 _ >

Find all zer : .
0s of the following polynomial functions and graph, then list all of the characteristics.

given that 1 is a root

£
-4 5 -1
-%
N 3 & O
X-BHX + =0

9) f(x) =x3 —6x%—16x + 96

Roots__ A, | nuuk ef A
Local Minimum: __ (.S, -, 12.5)

Local Maximum: __(1,())

Y-Intercept: (‘O!*BD

End Behavior: S X —ba, £{X) ¥ -2<

S AD 29 +(X) D o
Domain: _ T~ Range: P2

Increase: (— ‘)0, 1) U.g, D")

Decrease: (). I,S\l

.9, -. 119)

given that 6 is a root

A

Roots__ LY , {p

Local Minimum:L\F). -q)
Local Maximum: LO Ai)
Y-Intercept: (O ;C\(o)
End Behavior: S X2 —ho, 130 - 42

AS X2po, F(x) D0
Domain: W&~ Range: TR

Increase: (— 22,0) (5,2
Decrease: (O!‘)\
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10) f(x) = —x5 + 2x* + 10x3 — 20x2 — 9x + 18 given that 2 is a root

Roots. =, ¥\, &

Local Minimum: (~20) (1. 9,~4-2)
Local Maximum: (O, 19) (S0 A)
\\ Y-Intercept: (0,1%)

] End Behavior: S X= -k, £(X) 20 S k20 FOA)| -1

V Domain: !E Range: 124

__02’1 -1 2 10O ‘Z—-(;) "g _ J:Zg Increase: (— 2 _0) (LS, 2.9)
-2 O J__le.. \ S €
Wq Lo Decrease: {—fo, - 2.) (O, .s) La.S, po )

_ @(‘* -0 xl {'43

A

A

-

\

\
|
|

T

~_
(-0 X (-2, ~woY (35,190
X=1t%, i (0,18
| (1.5, -4:2)
11) f(x) = x3 + 10x% + 33x + 36 given that -4 is a root
’ Roots "‘|= -4 vt - oy
Local Minimum: ("310) |
A .
: , Local Maximum: L‘%‘s) . \16)
N B i Y-Intercept: (DEGJW)
v End Behavior: [ X”‘)OIF(X\ = -bo, PrS o) £(X) 240
. Domain: (Y_ Range: w—
% Increase: (" o, _q)s) (-2)\003
':'i_l \ AV ? 2 v Decrease: (,"5(:7 ”3-)
-y -24 -
v 0
\ (v 6] ‘-Q
x> Fux (35,125
(x¥d) ~ &

e nd
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